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BACHELOR OF EDUCATION (B.Ed) 

Term-End Examination 

BES-141 : PEDAGOGY OF SCIENCE 

Time : 3 Hours] 	[Maximum Weightage : 70% 

Note: All questions are compulsory. All questions carry 

equal weightage. 

1. Answer the following question in about 600 words: 

Explain three domains of nature of science. Give 

suitable examples. 

OR 

Discuss various shifts you have observed in 

pedagogy of science in recent times. 

2. Answer the following question in about 600 words: 

How will you use concept mapping as an 

approach to planning and transaction in science 

at secondary level? Explain with suitable example. 

OR 

How will you promote inclusion in science 

classroom? Suggest some adaptations and 

accommodations for it. 



3. 	Answer any four of the following questions in 

about 150 words each: 

(a) How will you explain Newton's second law of 

motion in your class? 

(b) Suggest an activity to introduce the concept 

of reflection of light. 

(c) Explain "Nitrogen Cycle". 

(d) Plan an activity by using 'infographs' for 

explaining the concept irrigation 

management in India. 

(e) Explain process of extraction of metals of low 

and High reactivity. 

(f) Explain heating effect of electricity. 

Answer the following question in about 600 words: 

Prepare a 5-E based lesson plan on any one of 

the following: 

(a) Water conservation 

(b) Valency 

(c) Light and its refraction.' 
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